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Paper: IMA1/1H

Question
3

Q1

Working
21840
1638
23478
5 6
2 ol L 27
31151 13
4 8
500 40 6
40 | 20000 | 1600 | 240
311500 | 120 18

20000 + 1600 + 240 + 1500 +

120 + 18 = 23478

Answer
234.78

Mark
M1

Al

Al

Notes
for complete method with relative place value correct including addition of all the appropriate
elements of the calculation e.g. two lines of 1* method, internal numbers of grids, or complete
structure shown of partitioning methods

for digits 23478

(ft dep M1) for correct placement of the decimal point into their final answer
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M1 for a method to add using common denominators with at least one Use of decimals gets no credit unless it
leads to a correct fraction

1 (a) 95
8 fraction correct (matching numerator with common denominator)
60 | 35 4 7
eg —+=—= or 2)—+(1)—
g28 28 ()28 ()28
Q2 95 11
—oe eg3—
Al 28 g 28
3 6 4 24 .15 8 9
- — X __ - - — -
(b) ! 5 Ml for 5 3 or 20 20 or 5 oc egl 15 Use of decimals gets no credit unless it
leads to a correct fraction
Al cao




www.yesterdaysmathsexam.com

9 7 8
5 5 Ml for writing as improper fractions with at least one correct, eg > X 3 oe
Q3 Ml (dep) for multiplying improper fractions,
"56" 6 28
eg —— or5— or —oe¢
"10" 10 5
Al cao
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2 Shown Ml . . . 7 15 Need not be shown with operators
for conversion to improper fractions eg. 3 or 7

4 M1 | (dep) for method to multiply fractions,
Q 7x15 105 28x45 1260

=——)or =——)o0¢
3x4 ( 12 ) 12><12( 144 )

eg.
Cl

for complete working showing each stage as far as? or 8%
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1 (a) 15.414 M1 for a complete method with relative place value correct including 14680
intention to add all the appropriate elements of the calculation 734
eg 2 lines of the 1* method, internal numbers of grids, or complete 15414
structure shown of partitioning methods.
3 6 7
1 / 271274
2 4 8
0 1 1
el 0 |
4 1 4

300 60 7

40 12000 | 2400 | 280
2 600 | 120 14
QS 12000 + 2400 + 280 + 600 + 120 + 14 =
15414
Al for digits 15414
Al (ft) dep on M1 for correct placement of the decimal point into their final
answer
(b) 37.4 Ml for a start to a method, A start to a repeated subtraction method or
eg 598.4 + 16 (or 59.84 + 1.6) = 3 (as a first digit) build-up method is acceptable if a correct

first digit of 3 is found
Al for digits 374

Al (ft) dep on M1 for correct placement of the decimal point into their final
answer
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3 ! 8 M2 | for a complete method,
15 1
15 eg 4-2+ % _ 10 condoning error with one numerator
4 2
or for 21 8_6_ 2 (= —3) with no more than one error

5 3 15 15 15

(M1 | for finding two fractions with a correct common denominator, with at

. 3 10
least one correct corresponding numerator, eg —,

Q6 15715

. . . 21 8 . .
or for converting both to improper fractions, eg —, — ) At least one improper fraction must be
53 correct
Al ! 8 Any equivalents must be a mixed number
— oe

15
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3 2 ! MI for either 7 oe or 4 oe
3 4 3
M1 for method to find the product,
Q7 7x4 2116 for 28 or’
eg. 5 Of 55, o¢ or for — or-oe
Al 1 . .
for 2 3 or an equivalent mixed number
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2 (a) 17 Ml for finding two fractions with a correct common denominator (multiple 3 1 8 9
3— . : May be from = and — or from — and =
20 of 20), with at least one correct corresponding numerator, 5 4 5 4
12 5 32 45
eg or

2020 20’20

Al for 3% or an equivalent mixed number

Q8 SC B1 for an answer of 3.85 if MO scored

b h
() shown Ml | for 835t oeor i><E 0€ OF —X— 0€
3 6 9 1 3 4

Al for unsimplified fraction which could lead to g ,eg % or for gxé

or —=+6
or

N . . 2 24
for unsimplified fraction which could lead to 25 ,eg 3
or

for unsimplified fraction which could lead to 6, eg %
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4 0.00128 M1 | for digits 128
or for correct placement of the decimal point following one arithmetical

Q9 error,
eg 32 x 4 =138 with an answer of 0.00138

Al for 0.00128 or 1.28x10
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2 Description C1 Identifies a mistake in the working

Acceptable examples

Rob should divide by 8

He should have added the 3 and 5 first
He divided 120 by 3 and 5 instead of 8

Q10 He did not do it as 120 x Z and 120 x Z
He did not add the two ratios first

Not acceptable examples

He has done it in two parts but he should do it in one
The answer should be 45 : 75

They do not add up to 120

He is supposed to add his numbers

40 + 24 does not equal 120






